[ Efficiency vs vertpos |

0.4

—_

20.09
4
20.08
(8]
§0.07
[&]
£0.06
0.05
0.04
0.03
0.02
0.0

&

o

q

0.8

Ratio

o
)

R o R B RR A AL LAAAN LR LR RNl RARE LARRN LRRLE RN

e

R

+

=
o

Efficiend

[N}

TP vert r (cr%)

a
ol

epressylon
ecPlLess3-
ecPLess4-

ow

OW
ow

-10
R
iz

uft's
:

DODMD

s

~n 0.2
20.18

(2] n
>0.16F
>

8 I
§0.14F
o L
£0.12F
(]

0.1
0.08
0.06)

0.04f4

0.02

.........................................

...............................

———
E— =

Py -

10 20 30
TP vert z (cm)

0

[Effici

ency vs.sim PV z |

~ 0.05
>
80.045
=
=0.04
%.035
3
20.03
@
8.025
(]

0.02
0.015

0.0

0.005

Ratio

q

I

816 1520
Sim. PV z (cm)



	Contents
	Page 1


